35

and diminished dissonances from the underlying 1st finger
= #fth (a5) resolving to the major sixth (ma6).

sixth (a6) resolving to the perfect octave (p8).

stops with two different fingers building up.from the low 1st, low 2nd, high 3rd and low 4th
finger positions on the lower string
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First play the melody (the upper notes), then play it together with the open string notes below (except for bar 32:

oractise the dyads here by first playing the lower note, then the upper note, and then both notes together).
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Exercise 36

Augmented and diminished dissonances from the underlying low 2nd finger
Augmented fourth (a4) resolving to a minor or major sixth (mi/ma6é).

Augmented fifth (a5) resolving to a major sixth (maé).

Augmented sixth (a6) resolving to an octave (p8).
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Practice tips 1. /r First play the melody (the upper notes), then play the counterpoint (the lower notes).
2. For each dyad, first play the lower note, then the upper note, and then both notes together (see example **¥),
3. Now play ‘Hymn’.
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37
and diminished dissonances from the underlying high 3rd finger
«z “= 2 d3) resolving to a unison (p1).
2 ~=~ 23 resolving to a major of minor third (ma/mi3).
4 0 31 0 T
I - t t r3 T .
' —— b e He—
2= K 4 (Z 7] n.‘. v ? FV [Z <X 2
d3 p1
2 2 2
15 b = 1 = = 1L :
F——pe g = #2 ‘
T e A e
ma3 d5 mi3
: 409 T 9 | TI/‘\Z
1 | | | T 1 | N | -
=z I N 7 i E“I 9[ b = glpg = ‘: g
R ; I —
d3 p1
3 2 2
1L Iy ) =Y =N L 3
s te——s tT—t ———e z
4 i E 4 i i
ma3 d5 mi3
n
4,0 R 0 Y R
> P ——ye——pme——— Z
} e = € 1
. = :
d3 p1
2
Z P o — he & - = o
uil o] -4 kil His i) #o B_l nPT \
& Fzd y 2
- - - =
4 3 4
ma3 d5 mi3

© Copyright 2012 by De Haske Publications




35 36 Perpetuum mobile

Practice tips 1. First play the upper notes, then the lower notes; the melody alternates between the bottom and top.

2. For each dyad, first play the lower note, then the upper note, and then both notes together (see example ***),
3. Now play ‘Perpetuum mobile’.
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38 :

=< and diminished dissonances from the underlying low 4th finger
= s=cond (a2) resolving to a major third (ma3) or perfect fourth (p4).

== “ourth (a4) resolving to a minor or major sixth (mi/maé6).
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Final Choral (No. 1)
Se= Choral No.1’
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